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Exercise 1. [5]

The S&T index pays a continuously compounded dividend rate of 6 = 2%.
The current value of the index is 1000, and the three-month forward price 1s

1002.50.

1) Find the risk-free continuously interest rate.
2) Suppose that the price of a three-month European 1000-strike put on the
stock is 38.40. Find the price of a three-month European 1000-strike call.

0 buy one share of XYZ stock is 85.

pay dividends. ‘ '

te of interest rate is 6.5%.

 on one share of XYZ stock with strike price of K
osts 3.33

1 one share of XYZ stock with a strike price of
rcosts 10.38.

e an arbitrage opportunity on this stock and
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Exercise 3. [5]

Shuripose' tha? you .buy a share of a stock for 40 and you also buy a 38-strike put
that expires in oné year for 1.73."The continuously compound interest rate is 4%.

a) What is the name used for your option position?

b) If the stock falls to 35 after one year, what is the profit on your
combined position?

Exercise 4. [5]

The current price of a stock is 30. You buy a call with a strike price 30 — S for
5.4431 and sel a call with strike price 30 + S for 0.3421. Both calls expire in
three months.

—

a) Give the name of your position y :

b) Suppose that at expiration, the stock price is 35 and you have a profit of
2.8679. You are given that S < 4 and the continuously compound risk-
free rate is 4%. Find the strike price of the purchased call.

and the graph of a profit of a Bear Spread with call
n of the stock price. When an investor should use a

d.

non-dividend paying stock and also writes a collar
of a K; -strike European put option and a Kj-strike
'K; < K,. Both options expire in T- years with a
r. We will call these combined positions by

fit of a Written Collared Stock
d use a strategy of a Written Collared Stock.

&
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Exercise 6. [7]

rhe current price of a st
table below gives pric

ock is 28. The continuousg]

o risk-f i
s of 6-month Ut and call Oy ree rate is 3%. The

prices - i ptions with various exercise
Strike Pri R TI
3 tice | Call Option Put Option
0.50 4.26
28 1.77 157
24 4.46 0.28

1) An investor sells the 28-strike call and the 28-strike put, and buys the 24-strike
put and 32-strike call. Give the name of this position, the graph of the profit
as a function of the index price and the reason to take this position.

2) An investor buys a 32-strike call and 24-strike put, and sell§ 32-strike put and
and 24-strike call. Give the name of this position and in this case, the reason

to use this position.

alued at 50. The index pays dividend continuously at
1 of the index. The dividend yield during tl}e first 3
end yield after 3 months is 3%. The continuously

t rate is 5%. Calculate the following:

”
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